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FOREWORD

The National Examinations Council of Tanzania (NECTA) is pleased to issue the
Candidates’ Item Response Analysis (CIRA) report for Advanced Secondary
Education Examination (ACSEE) 2022. The main aim of this report is to provide
feedback to educational stakeholders about the performance of the candidates in
Commerce subject.

The general performance of the candidates in Commerce subject was good since
1,373 (99.85%) candidates passed the examination. This report analyses the
candidates’ response question wise. It highlights some challenges that the
candidates faced in answering the examination questions and, some solutions
toward those challenges. Further, the analysis shows the reasons for candidates’
good, average and weak performance in each question. For example, some of the
reasons for the candidates’ good performance include: ability to adhere to the
demands of the questions, better understanding of the subject matter, and applying
competency knowledge in responding to questions. However, a few candidates
who scored low marks faced some challenges like insufficient knowledge of the
subject matter, and misconceptions to some questions. The recommendations given
in this report are intended to help the education stakeholders to improve the
performance in the future examinations administered by the NECTA.

Finally, the National Examinations Council of Tanzania would like to thank the
examiners, examinations officers and everyone who participated in the preparation
of this report.

Athumani S. Amasi
EXECUTIVE SECRETARY

v



1.0

INTRODUCTION
The Commerce examination consisted of two (2) papers: 152/1 Commerce 1
and 152/2 Commerce 2. The examination tested the candidates’
competences as stipulated in the 2010 Commerce Syllabus for Advanced
Level Secondary Schools, and in accordance with the 2019 Revised
Examination Format.

Each paper had seven (7) essay questions. In both papers, the candidates
were required to choose five (5) questions. However, question number one
(1) was compulsory in both papers. Each question carried twenty (20)
marks.

The analysis of examination results shows that a total of 1,380 (100%)
candidates sat for this examination, of which 1,373 (99.85%) passed with
grades A to S and 2 (0.15%) candidates failed. The results for 5 candidates
were withheld. The ACSEE 2022 results are similar to those of 2021
whereby a total of 1,351(99.85%) candidates passed out of 1,355 candidates
and only 2 (0.15%) candidates failed. However, in 2021 the results of two
students were withheld.

The performance of the candidates in each question and each topic is
categorised as good, average and weak. The performance of candidates in
each question is regarded as good if the scores range from 12 to 20 marks,
average if the scores range from 7 to 11.5 marks and weak if the scores
range from 0 to 6.5 marks out of the 20 allocated marks. Three colours:
green, yellow and red have been used to indicates the levels of performance
as good, average and weak respectively.

The report analysis includes figures, the extracts of samples of correct and
incorrect responses in each question from different candidates, and a
summary of the candidates’ performance in each question.



2.0

2.1

ANALYSIS OF THE CANDIDATES’ PERFORMANCE IN EACH
QUESTION

COMMERCE PAPER 1

2.1.1 Question 1: The Scope of Commerce

This was a compulsory question, and it was attempted by a total of 1,380
(100%) candidates. The candidates were required to oppose a debate motion
stating that “Commerce and trade are the same”.

The question was attempted by 1,380 (100%) candidates out of whom 364
(26.37%) scored from 12 to 20 marks, 705 (51.09%) scored from 7 to 11.5
marks, and 311 (22.53%) scored from 0 to 6.5 marks. This question had good
performance as 1,069 (77.46%) candidates scored an average and above.
Figure 1 summarises the candidates’ performance for question 1.
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Figure 1: Candidates’ performance for question 1

The analysis shows that 364 (26.37%) candidates who scored from 12 to 18.5

marks opposed the motion that “Commerce and trade” are the same by

providing the difference between commerce and trade. However, there is no

candidate who scored all the 20 allocated marks. Most candidates in this

category opposed the motion with a sufficient number of correct points but
2



some of their explanations were not satisfactory to the points mentioned.
Extract 1.1 is a sample of the correct responses from a candidate who scored
high marks.
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Extract 1.1: A sample of the relatively correct response for question 1

In extract 1.1, the candidate differentiated commerce from trade with
relevant points.



The analysis shows that the majority of candidates, 705 (51.09%) scored
average marks ranging from 7 to 11.5. Some of them identified the
differences between commerce and trade, but could not provide the correct
explanations to some of the identified points. Other candidates’ responses
included repetition of correct points which caused insufficient number of
the required points. For example, some candidates explained the point that
commerce comprises trade and aids to trade, but they used the branches of
aids to trade to differentiate as a separate point like: commerce consist of
trade and insurance, trade and banking.

On the contrary, 311 (22.53%) candidates scored low marks. These
candidates provided incorrect points due to poor interpretation of the
demands of the question, and incompetency in the area tested. For example,
there were some candidates who differentiated commerce from production,
instead of commerce from trade. Further, the analysis revealed that, some
candidates’ responses showed that commerce and trade are similar. The
following are examples of responses from one of the candidates: Commerce
and trade are all aimed at profit, they are both use advertising to let
customers being aware of their products, they all create human utility and
they are all the branches of production. Many candidates scored some
marks as they were able to distinguish the terms through their definitions.
Extract 1.2 is a sample of an incorrect response for question 1.
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Extract 1.2: A sample of the incorrect response for question 1

In extract 1.2, the candidate explained the use of aids to trade in both
commerce and trade, instead of opposing the motion that ‘commerce and
trade are the same’.

Question 2: Advertising

This question asked the candidates to clarify six types of e-commerce
according to the parties involved in the transactions to Mr.Biashara; a
wholesaler who carried out his business in Mwanza, Tanzania.

The question was attempted by 256 (18.6%) candidates of whom 44
(17.18%) scored from 0 to 6.5 marks, 93 (36.34%) candidates scored from 7
to 11.5 marks, and 119 (46.48%) candidates scored from 12 to 20 marks.
The candidates’ performance was goods because 211 (82.82%) candidates
scored from 7 to 19.5 marks. Figure 2 summarises the candidates’
performance for question 2.
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Figure 2: Candidates’ Performance for Question 2

The data shows that 211 (82.82%) candidates scored marks ranged from 7 to
19.5. The candidates who scored high marks clarified the types of e-
commerce by considering the parties involved in the transactions. Some of
them explained at least 4 to 5 types out of the six required. The parties
involved in the transactions include: producer, consumer, government and
business/company. The parties involved are the ones used to determine the
type of e-commerce one has to engage in.

The candidates who scored average marks mentioned almost all the types of
e-commerce correctly, but failed to clarify some of the types because they
mixed the explanations of the parties involved. The candidates’ scores
varied according to their ability to clarify the types and providing the
sufficient number of points. Furthermore, some candidates provided
insufficient explanations to some of the correctly mentioned types of e-
commerce. Extract 2.1 shows a sample of the correct responses from a
candidate who scored high marks in question 2.
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Extract 2.1: A sample of the correct response for question 2

Further the analysis of the candidates’ responses indicates that a few, 44
(17.18%) candidates scored low marks in this question. This is a result of
lack of knowledge of the types of e-commerce, and misconception of the
requirements of the question. There were some candidates who mentioned
some types of e-commerce but failed to clarify the mentioned points
correctly. For example, one candidate mentioned the point of consumer to
consumer and consumer to business, but interchanged the explanations.
Other incorrect responses given by these candidates included
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communication media used to facilitate communication between the parties
such as: smart phone, slide presentation, video presentation, internet, and
social media. Some candidates’ responses showed the importance of e-
commerce to commerce and their responses were such as: it easier
communication, it reduces cost of transport, it enables the customer to see
the product(s) he/she wants before buying them, it reduces advertising costs
and it creates good relationship between buyer and seller. In addition, a
few candidates explained the general importance of commerce, instead of
the types of e-commerce according to the parties involved in the
transactions. Extract 2.2 is a sample of incorrect responses from a candidate
who scored low marks.
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Extract 2.2: A sample of the incorrect response for question 2
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2.1.3

In extract 2.2, the candidate explained some tools that facilitate e-commerce,
instead of the types of e-commerce according to the parties involved in the
transactions.

Question 3: Banking

In this question the candidates were required to explain the reasons for the
deteriorating performance of the banking industry in Tanzania.

The question was opted by 1,116 (80.9%) candidates. Data analysis shows
that the performance for this question was good since 1,091 (97.76%)
candidates scored from 7 to 20 marks. The scores in this question show that
929 (83.24%) candidates scored from 12 to 20 marks, 162 (14.52%) scored
from 7 to 11.5 marks while 25 (2.24%) candidates scored from 0 to 6.5
marks. Figure 3 is a summary of this performance.

90 -
80 -
70 -
60 -
50 -
40 -
30 -
20 - 14.52
10 + 2.24

0_——

0-6.5 7-11.5 12-20
Scores

Percentage of Candidates

Figure 3: Candidates’ Performance for Question 3
Figure 3 shows that only 2.24 per cent of all candidates scored low marks

ranging from 0 to 6.5, while the majority 1,091 (97.73%) candidates scored
high marks.
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The candidates with high scores in this question explained correctly most of
the reasons for the deteriorating performance of the banking industry in
Tanzania, with relevant introductions and conclusions in their responses.
Some of the correct points include: poverty, lack of confidence from the
bank customers, profit repatriation, failure to pay back the loan, lack of
information and education to customers, increase of foreign and local
financial institutions, introduction of e-money services and insufficient
committed and qualified staff. Their good performance was attributed to
better understanding of the requirement of the question, adequate knowledge
of banking and good mastery of essay writing skills. Extract 3.1 is a sample
of the correct responses by one of the candidates who performed well in this
question.
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Extract 3.1: A sample of the correct response for question 3

Despite the good performance in this question, few candidates (2.24%) had
weak performance as their scores ranged from 0.5 to 6.5 marks. Some of the
candidates’ responses include a few correct points such as high interest
rated on deposits, incompetency staffs, introduction of e-money and failure
of borrowers to pay back the loans, however the explanations given to the
points did not match to the mentioned points. Some of these candidates
included in their responses incorrect points like trade barrier, problem of
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balance of payment, increase in exchange rates, dependency and income
inequality. The points were incorrect because they are the challenges of
international trade. They were supposed to know that at the beginning
customers joined the banks services, but they lacked correct information and
education about banking industry. Therefore, after sometimes they decided
to drop from bank services due to inadequate information. Profit
repatriation is also one of the reasons for the decline in the bank
performance. Some candidates mentioned and explained it as a way in which
the profit is distributed to bank members. They were supposed to explain
that profit reputation affects the development and improvement of banking
industry because the foreign banks take part of the generated profit, to their
countries, hence the decline in the performance. Extract 3.2 shows a sample
of incorrect responses from a candidate who scored low marks.
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Extract 3.2: A sample of the incorrect response for question 3

(Ao

In extract 3.2, the candidate explained the importance of bank to the
community, instead of the reasons for the deteriorating performance of the
banking industry in Tanzania.

2.1.4 Question 4: Warehousing

The question required the candidates to use four points to convince Mrs.
Kazi, an importer of second hand clothes on the benefits of using bonded
warehouse. They were also required to tell her how the government benefits
when Mrs. Kazi uses a bonded warehouse.

This question was opted by 1,243 (90.1%) candidates out of 1,380. Data
analysis shows that 784 (63.08%) candidates scored from 12 to 20 marks,
383 (30.81%) scored from 7 to 11.5 marks, and 76 (6.11%) scored from 0 to
6.5 marks out of 20. This shows the good performance in this question since
1,167 (93.89%) candidates scored 7 marks and above as illustrated in Figure
4,

6.11%

Scores

30.81% m0-6.5
O7-11.5
m12-20

Figure 4: Candidates’ Performance for Question 4
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Candidates who scored high marks understood the functions of the bonded
warehouse; therefore, they explained the benefits of bonded warehouse to
both importers and government. However, most of these candidates did not
score full marks because they provided insufficient explanations to some of
the benefits, especially the benefits of bonded warehouses to the
government. The correct point explained by the majority on the benefits to
the government was the source of government revenue. Some candidates
explained the points which reflect the general functions of a warehousing,
instead of being specific to the government. They were also supposed to
know that apart from revenue collection function, warehousing also
performs the other functions such as; control of prohibited products, record
keeping and reduce the rate of tax evasion. The majority of candidates in
this category presented their responses in essay form with relevant
introduction sand conclusions. Extract 4.1 is a sample of the correct
responses.
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Extract 4.1: A sample of the correct response for question 4

In extract 4.1, the candidate explained the benefits of bonded warehouse to
both importer and the government.

There were candidates who score 7 to 11.5 marks. The candidates had partial
knowledge of the benefits of bonded warehouse to both customers and the
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government. The analysis shows that most of these candidates highlighted
the benefits to importers, and did not respond on the benefits to the
government. However, a few candidates mixed some advantages with the
importance of warehousing. For example, a response from one of the
candidates was: preparation of goods for sale, selling of goods when they
are in the bonded warehouse, it provide employment opportunities, it create
place utility and price stabilization. The first two points were the correct
benefits of warehousing to importers, but the rest were the importance of
warehousing. Others highlighted the correct points with unrelated
explanations to some of the points.

Furthermore, the analysis shows that 283 (30.81%) candidates had weak
performance in this question. These candidates had insufficient knowledge
of warehousing, particularly the types of warehouses and their benefits to
both customers and the government. Some candidates identified the benefits
of bonded warehouses, but failed to distinguish those that suit the importer,
and those which are appropriate to the government, therefore interchanged
the benefits. In addition, the analysis of the candidates’ responses shows
that, some candidates explained the benefits of bonded warehouse to the
public instead of the importer and the government. Few of these candidates
explained the benefits of warehouse to the public like; source of employment
opportunity, improvement of living standard and buying goods at fair price
instead of the benefits of bonded warehouse to Mrs. Kazi (importer) and the
government. The following extract presents incorrect responses from one of
the candidates.
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Extract 4.2: A sample of the incorrect response for question 4

In extract 4.2, the candidate explained the importance of warehousing,
instead of the benefits of bonded warehouse to importers and the
government.

Question 5: Insurance

This question required the candidates to assess six factors to be considered
in determining the amount of premium to be paid to guide the actuary
(insurer) to respond to the customer’s inquiry.

A total of 1,300 (94.2%) candidates attempted this question of whom 956
(73.54%) scored from 12 to 20 marks, 309 (23.77%) scored from 7 to 11.5
marks, and 35 (2.26%) scored from 0 to 6.5 marks out of 20. The overall
performance for this question was good because 1,265 (97.31%) candidates
scored from 7 marks to 20 marks. Figure 5 summarises the candidates’
performance for question 5.
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Figure 5: Candidates’ Performance for Question 5

Figure 5 shows that most candidates (73.54%) scored 7 marks and above.
This reflects that they understood the procedures to obtain a cover note from
which the computation of premium to be paid is done. They assessed the
factors that are considered in determining the premium to be paid by insured
according to the demands of the question. Among them, 15 candidates
scored all the 20 marks as they correctly assessed the factors as required.
Most candidates in this category assessed most of the factors correctly.
However, a few factors missed some of the key points. For example, the
level of precaution taken, the assessment should be made on the precautions
that the insured had taken against the products insured like installing fire
extinguishers to reduce the risk. One of the candidates explained such
factors as; re-insurance whereby the insured insures his property/life in more
than one insurance company.

In additional to that, another factor which was incorrectly explained by the
candidates in this category was statistical records. Some candidates
explained it as recording business transactions in the book of account, while
it is all about the frequency of the occurrence of loss against which the
property/life to be insured happens. Similarly, other candidates mentioned
the required points correctly but reversed some explanations because they
were not aware of the situation that the insured is highly charged more
premiums. For example, the number of applicants; the candidates explained
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that if the number of applicants in a certain risk is high the premium to be
paid is high. They were wrong because if the number of applicants is higher,
premium is going to be low because the risk is spread to many applicants.
Likewise, the factor of the age of a person, the candidates reversed the
explanation that young people pay high premium as they are energetic than
old people who are affected with frequent illness and sometime death, hence
pay low premium. Further the analysis shows that some candidates
explained at least three correct factors with relevant introductions and
conclusions for their responses. Extract 5.1 is a sample of relevant response
for question 5.
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Extract 5.1: A sample of the correct response for question 5

Extract 5:1, shows for that the candidate understood the requirements of the
question but also familiar with the factors necessary in the computation of

insurance premium.

The candidates who scored low marks (0 to 6.5) in this question had
inadequate knowledge of the factors to consider when computing premium
to insured. The majority of candidates listed a few factors, but they were not
conversant with the factors required. This is justified by the candidates’
responses which included a few correct factors, and a lot of incorrect factors
for determining the amount of premium to be charged. For example, the
response from one of the candidates was: age of the insured, age of the
dependents, the value of goods, coinsurance, subrogation and proposal
form. The first point and the third one were correct factors, but the candidate
provided unrelated explanations. In the point of the age of the insured the
candidate wrote that the insured must have 18 years, and above which is the
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condition for taking up insurance. He/she failed to realise that the age of the
insured is necessary to determine the premium in the sense that, in case of
life assurance old people are charged with high premium. The value of the
property to be insured was explained as the perishable and durable goods
which was wrong. The other mentioned points included the principles of
insurance with some terms used in insurance. Some candidates explained the
principles of insurance such as, utmost good faith, insurable interest,
indemnity, contribution and proximate cause. Extract 5.2 is a sample of a
response from one of the candidates with low marks for question 5.
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Extract 5.2: A sample of the incorrect response for question 5
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2.16

In extract 5.2, the candidate highlighted some principles of insurance,
factors to determine premium and other irrelevant points. The first and the
last paragraphs highlighted the correct factors with incorrect explanations.
The candidate also lacked essay writing skills.

Question 6: Transport and Communication

The candidates in this question were required to describe six common
transport documents issued by transport companies to the customers, or
agents when transporting goods through different modes of transport. The
question intended to test the candidates’ understanding of the common
documents which are used for transporting goods.

The analysis shows that the question was attempted by 577 (41.8%)
candidates of which 372 (64.47%) scored from 12 to 20 marks, 148
(25.65%) scored from 7 to 11.5 marks, and 57 (9.88%) scored from 0 to 6.5
marks. The performance for this question was good as 90.12 per cent of the
candidates who opted it scored 7 to 20 marks. Generally the overall
performance for this question was good. This performance is illustrated in
Figure 6.
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Figure 6: Candidates’ Performance for Question 6
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The analysis shows that a total of 372 (64.47%) candidates scored high
marks (12 to 20) in this question. These candidates described correctly most
of the documents used for transportation in different modes of transport.
This was due to the fact that they had sufficient knowledge of the documents
used for transportation. The candidates were aware of the documents used in
transporting and delivering goods to consumers or agents. Therefore, they
analysed the common documents from the list of documents used. The
variation noted in individual candidates’ scores was caused by the level of
correctness of the descriptions given on each document according to the
requirements of the question. Extract 6.1 shows a correct response from a
candidate who scored high marks in this question.
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Extract 6.1: A sample of the correct response for question 6

Furthermore, some candidates scored average marks ranging from 7 to
11.5. They wrote some correct documents mixed with incorrect documents.
For example, one of the candidates wrote: airway bill, charter part,
consignment note which were correct documents but mixed up with letter
of credit, and letter of hypothecation which are the documents used for
international trade. They were incorrect because the two letters are the
documents that facilitate buying and selling of goods to and from abroad. In
addition, some candidates included some documents used for insurance into
some of the correct documents. For example, one candidate wrote
insurance policy, cover note and proposal form, which are used for
insurance, instead of the ones used for transportation. Others mentioned all
the correct documents, but could not describe some of the documents
accordingly.
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Conversely, 57 (9.88%) candidates had weak performance as their scores
ranged from 0.5 to 6.5 marks. These candidates failed to meet the demands
of the question due to insufficient knowledge of common documents which
are used for transporting goods through different modes. Some of these
candidates were able to provide few relevant documents with incomplete
descriptions. The analysis further revealed that, some candidates confused
the documents for transportation with international trade commercial terms
(Incoterms). Therefore, instead of describing the common documents used
and issued by transport companies to the customers or agents when
transporting goods, they described some incoterms used to set the prices of
imported goods. For example, a response from one of the candidates
contained the points such as; cost and freight, cost insurance and freight and
free on board which are incoterms with other irrelevant points like door to
door services and dock delivery. In addition, some candidates described at
least one correct document but mixed with other document used in different
business transactions which include delivery note, credit note, invoice and
pro-forma invoice. A few candidates explained the factors to be considered
before choosing a mode of transportation instead of common documents
used in transportation. Extract 6.2 is a sample of the incorrect responses for
question 6.
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Extract 6.2 shows a sample of the incorrect response for question 6.

In extract 6.2, the candidate explained the factors to consider before
choosing the mode of transport except the last point which was correctly
mentioned, but it was incorrectly explained.

2.1.7 Question 7: Production

This question required the candidates to analyze six points on the important
factors to consider when assessing labour efficiency. The question was opted
by 1,026 (74.3%) candidates.

Data analysis shows that 831 (80.99%) candidates scored from 12 to 20
marks, 140 (13.56%) scored from 7 to 11.5 marks, and 55 (5.36%) scored
from O to 6.5 marks. The candidates’ performance was good since 971
(94.64%) candidates scored 7 marks and above. Figure 7 summaries the
performance.
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Figure 7: Candidates’ Performance for Question 7

The analysis shows that the candidates’ performance was good as 831
(80.99%) candidates’ scores ranged from 12 to 20 marks. These candidates
understood what was meant by labour efficiency, and the way in which
employers can assess labour efficiency. They understood that, before
employing a new labour to the industry, an employer must consider the
efficiency of the existing labour by looking at the factors like their ability to
complete the assigned task on time (working hours), age of the workers, the
level of management to organise the tasks, and employees’ personal
qualities. The difference noted from the assessment of labour efficiency was
attributed to the candidates’ ability to provide relevant factors with relevant
explanations. Extract 7.1 is a sample of a correct response from the script of
one of the candidates.
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Extract 7.1: A sample of the correct response for question 7

Extract 7:1, shows for that the candidate understood the requirements of the
question, but also knowledgeable of factors to consider in assessing
efficiencies of labour.

On the other hand, 140 (13.56%) candidates performed averagely in this
question; their scores ranged from 7 to 11.5 marks. These candidates had
partial knowledge of the labour efficiency in production. Therefore, they
provided some correct factors, but included other incorrect points in their
responses. Some of the incorrect points included by these candidates were
the reasons for the existence of industry which include: availability of raw
materials, efficiency of labour, good transport facilities, quality of products
produced, price and nature of the products. Some candidates were able to
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assess the factors to consider in assessing labour efficiency, though the
explanations given were not sufficient to score high mark.

Apart from the question being well performed, 55 (5.36%) candidates scored
below 7 marks. Some of these candidates failed to identify the requirements
of the question, hence provided irrelevant responses. For example, some
candidates explained other factors of production such as, land, capital and
entrepreneur, but failed to link their explanations with the factors to assess
labour efficiency. The point mentioned was correct it was explained in the
context to labour efficiency, and not as a factor for production. On the
contrary, some candidates explained the ways through which producers can
increase sales of their product. For example, through advertising, promotion,
market research and improving quality of products. Extract 7.2 is a sample
of incorrect responses.
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Extract 7.2: A sample of the incorrect response for question 7

In extract 7.2, the candidate demonstrated poor understanding of the
question hence, she/he explained the factors to consider before choosing the
mode of transport, instead of the factors to assess labour efficiency.

COMMERCE PAPER 2

Question 1: Business Units
This question required the candidates to assist two people, Chapa and Kazi
who are in sole proprietorship to differentiate sole proprietorship from a
partnership so that they can decide whether to form a partnership or to
continue with sole proprietorship.

The question was attempted by 1,380 (100%) candidates as it was a
compulsory question. Among them 1255 (90.94%) scored from 12 to 20
marks, 95 (6.88%) scored from 7 to 11.5 marks and 30 (2.18%) scored
from 0 to 6.5 marks. Figure 8 summarises this performance.
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Figure 8: Candidates’ Performance for Question 1
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Figure 8 indicates that the majority of candidates 1255 (90.94%) performed
well in this question. The candidates were familiar with the forms of
business units specifically on sole proprietorship and partnership. They
managed to differentiate the two forms of business units to assist the two
traders; Chapa and Kazi, to join their financial efforts to form a partnership
or to remain in their current form of business. They realised that in order to
make a clear distinction between sole proprietorship and partnership, the
issues of business continuity, freedom to act, risk bearing, sharing of skill
and experience, capital contribution and business management should be
taken into consideration. The candidates’ scores varied with the extent to
which they differentiated the business forms with the valid points. Extract
8.1 shows a sample of a correct response for question 1 of paper 2.
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Extract 8.1: A sample of the correct response for question 1

In extract 8:1, the candidate explained the main differences between
partnership and sole proprietorship.

Furthermore, the analysis shows that, 6.88 per cent of the candidates scored
average marks ranging from 7 to 11.5. They were able to distinguish sole
proprietorship and partnership in at least three correct points with relevant
explanations. Some candidates included in their responses the difference
between partnership and company, especially of the point of capital
contribution and a number of members. For example, one candidate wrote
that sole proprietors obtain capital from selling shares to the public while
partners contribute capital from their own sources or borrowing. In
partnership the minimum number of partners is 20 and the maximum is 50
while in sole proprietorship the minimum and maxim number of member is
1. This candidate failed to understand that the capital for the sole
proprietorship is from individual trader by any of the sources of capital,
while in partnership the capital is contributed by members according to
their agreement. Other candidates highlighted most of the correct points
but, failed to explain how they differ from each other.
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On the contrary, 30 (2.18%) scored below 7 marks which was weak
performance. Most of them were able to give correct introductions and
provided a minimum of two correct points. However, the explanations
provided about the points were not sufficient. Some candidates
differentiated partnership with companies, while others wrote the difference
between private and public company which is contrary to the requirements
of the question. Extract 8.2 presents a sample of incorrect response from a
candidate who scored low marks.
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Extract 8.2: A sample of the incorrect response to question 1

In extract 8.2, the candidate differentiated private companies from public
companies. The candidate also failed to understand the requirements of the
question.

Question 2: Marketing

The candidates in this question were required to explain to Makushika
villagers the classification of markets basing on the; position of the sellers,
volume of business transacted and nature of transaction. The question
intended to test the candidates’ understanding of the concept of the types of
markets in marketing.

The question was optional, it was the least opted and it was attempted by
536 (38.8%) candidates. Data shows that out of 536 candidates, 164
(30.60%) scored from 12 to 20 marks, 107 (19.96%) scored from 7 to 11.5
marks, and 265 (49.44%) scored marks ranging from 0 to 6.5 marks out of
the 20 allocated marks. Generally, the candidates’ performance for this
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question was average since 50.56 percent scored from 7 to 20 marks. Figure
10 summarises the candidates’ performance for question 2.

Scores

m0-6.5
o7-11.5
m12-20

19.86%

Figure 9: Candidates’ Performance for question 2 Paper 2

A total of 164 (30.60%) candidates performed well in this question. They
understood the ways in which markets are classified, hence were able to
comprehend with the requirements of the question. They were aware that
market is classified according to the position of the sellers and the nature of
the products from those markets which includes primary market, secondary
and terminal market. Regarding to the volume of business transacted, the
candidates were supposed to classify the markets by the quantity (ies) of
goods supplied which depends on the financial ability and the trade carried
on. Basing on the nature of transactions, the candidates understood that the
market is classified according to the terms of payment, whether customers
have the ability to pay immediately or after a stated period of time. The
observations from the candidates’ scripts revealed that most candidates in
this category classified the markets according to the requirements of the
question. However, some of them could not give clear explanations to some
classes especially terminal market. Likewise, some candidates classified the
markets with correct points, but did not provide examples to some of the
classes. Extract 9.1 is a sample of a relatively correct response from a
candidate who scored high marks.
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Extract 9.1: A sample of the correct response for question 2

In extract 9.1, the candidate classified the markets according to the
requirements of the question. However, the candidate did not give a correct
example on terminal market.
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On the other hand, 107 (19.96%) candidates had average performance in
which their score ranged from 7 to 11.5 marks. The analysis revealed that,
the majority of candidates were able to list the correct classification of
markets according to the volume of business transacted, and the nature of
transactions with some examples. Others mentioned the markets including
the position of the sellers and, volume of business transacted. However, they
provided with insufficient explanations and examples to some of the points.
In addition, some candidates provided the correct classification according to
volume and nature but mixed up their responses with the classification of
markets according to competition. For example, one candidate included the
incorrect responses such as monopoly and oligopoly but the sited examples
were incorrect.

Nevertheless, 256 (49.44%) candidates had weak performance in this
question. They scored low marks (0 to 6.5) due to inadequate knowledge of
the specific tested concepts. Some correct responses given by these
candidates were wholesale and retail markets under volume of business
transacted. Many of them mentioned at least two correct points, but they
gave neither relevant explanations nor examples. The candidates who scored
zero mixed up the types of markets and failed to meet the demand of the
question. Some wrote some classes of markets such as; sport market,
primary market, and secondary market, but could not fix them into the right
classes. For example, the responses from some candidates included primary
and secondary market under the nature of the transaction(s) instead of
showing them under the position of the seller. Most candidates failed to
adhere to the demands of the question, so they classified the markets
according to competition. Extract 9.2 is a sample of incorrect responses from
a candidate who performed poorly in this question.
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Extract 9.2: A sample of the incorrect response for question 2

In extract 9.2, the candidate classified markets according to competitions

instead of the position of the seller, volume of business transacted and the
nature of transactions with examples.
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2.2.3

Question 3: Contract of Sales

The candidates in this question were required to justify the right of the
seller in the default of the contract if the buyer refused to pay for the goods
he/she has delivered.

The question was opted by 938 (68%) candidates out of whom 533
(56.82%) scored from 12 to 20 marks, 298 (31.77%) scored from 7 to 11.5
marks, and 107 (11.41%) scored from 0 to 6.5 marks out of 20. This
implies a good performance since 831 (88.59%) candidates scored from 7
to 20 marks. The candidates’ performance for question 3 is summarised in
Figure 10.

Scores
m0-6.5
o7-115
m12-20

Figure 10: Candidates’ Performance for Question 3

Figure 10 indicates that, the majority of candidates understood the right of
the seller and the buyer in case the buyer possessed the goods, but refused
to pay for them.

The analysis shows that 533 (56.82%) candidates scored high marks 12 to
20 marks. These candidates understood the right of the seller under
different condition of selling and buying of goods. For example, the
conditions like: the buyer has to pay before delivery, and after delivery or
on delivery. They responded according to the question, which was payment
to be done after delivery. They were also able to differentiate the right of

the seller from that of the buyer. Some candidates justified the right of the
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seller by using five points out of the required six, so they failed to score all
20 marks. In addition, other candidates explained rights of the seller under a
given condition, but some of the points could not deserve full marks. The
clarity and sufficient number of points determined an individual candidate’s
scores. Extract 10.1 is a sample of responses from a candidate who scored
high marks in question 3.
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Extract 10.1: A sample of the correct response for question 3

In extract 10.1, the candidate justified the right of the seller in the default of
the contract where the goods have already been delivered to the buyer.

Furthermore, a total of 293 (31.77%) candidates scored average marks,
from 7 to 11.5. Their average scores were attributed to the partial
knowledge of the rights of the seller and the buyer in the contract of sales
of goods. This made them to mix the rights of the seller with the rights of
the buyer in their responses. The other reasons for the average score were
incorrect explanations to some of the correct rights to sellers and failure to
differentiate some rights and reasons for terminating the. contract. For
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example, one candidate wrote the right of the seller before the goods
reached to the buyer such as; right to stop goods in transit, and the right to
retain the goods. This indicates that this candidate failed to realise that if
the seller delivered goods, he/she cannot stop the goods while in transit or
retained the goods because they are already in the hands of the buyer.

Despite the majority of candidates scoring high marks in this question, 107
(11.41%) scored low marks ranging from 0 to 6.5. The main reasons for
low scores were inadequate knowledge and failure to identify the
requirements of the question. For example, some candidates scored some
marks in the introduction part, and were able to give only two correct points
with some discrepancies to the explanations given. Some candidates
explained the general reasons for terminating the contract. Extract 10.2 is a
sample of incorrect response from the candidates who scored low marks.
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Extract 10.2: A sample of the incorrect response for question 3
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In extract 10.2, the candidate explained the reasons for terminating the
contract of sale between the buyer and seller.

Question 4: International Trade

This question required the candidates to use six points to validate the
statement that “The free trade policy is really harming the economic
development in developing countries like Tanzania’’.

A total of 1,339 (97%) candidates attempted this question. Their
performance was as: 948 (70.80%) candidates scored marks ranging from 12
to 20 marks, 200 (14.94%) scored from 7 to 11.5 marks and 191 (14.26%)
scored from 0O to 6.5 marks. The candidates’ performance for this question
was good since 85.74 per cent of the candidates scored from 7 to 20 marks,
as illustrated in figure 11.

Scores
m0-65

14.94% o7.-

. 115

Figure 11: Candidates’ Performance for Question 4

The candidates with good performance (85.74%) in this question were aware
of what would happen if there is no trade restrictions to the economic
development to the developing countries. Free trade allows importers and
exporters to exchange which-ever they want. This may result into receiving
goods which are below standards, or which are not required by the
developing countries. They also understood that with free trade, the
countries can be affected by monopoly effect as it encourages specialization
in particular product(s).
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The developing countries can be attracted to sell some resources to
developed counties like minerals which are not renewable. So in a long run,
they can run out of the resources. The majority of candidates provided at
least four to five valid points with relevant introductions and conclusions.
The differences observed in the candidates’ scores were due to the
individual ability to provide relevant points as per the requirements of the
question, explanations and clarity of the points. Extract 11.1 is a sample of
the good responses from a candidate who scored high marks.
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Extract 11.1: A sample of the correct response for question 4

In extract 11.1, the candidates provided correct points as evidence of the
negative effects of free trade to the developing countries like Tanzania.
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On the other hand, 200 (14.94%) candidates performed averagely in this
question as their scores ranged from 7 to 11.5 marks. Most of these
candidates provided relatively relevant explanations to at least three out of
six points to validate the statement. The points provided by these candidates
included: decline of home industry, importation of harmful goods and
exhaustion of natural resources. Other candidates included the correct point
like unfavourable balance of payments. However, most of them failed to
distinguish between unfavourable and vafourable balance of payment. Some
candidates wrote some correct points with the advantages of international
trade. For example, one candidate wrote: international trade create good
relationship among the countries, it enable the country like Tanzania to sell
out the surplus such as Tanzania sells maize to Kenya also people from
Tanzania get technology from developed countries. These are some benefits
of international trade which cannot harm the economic development of the
country.

Despite the good performance in this question, 191 (14.26%) candidates
scored low marks ranging from 0 to 6.5. Some of these candidates had an
idea of free trade policy and its negative impact to the economic
development in developing countries, but the majority failed to validate the
given statement. There were some candidates who listed a few correct
points, but the explanation provided could not meet the demands of the
question. For example, one candidate wrote: protection of home industries
but the explanation was: free trade policy enables developed countries to
build industries in developing countries to increase production of local
products. The candidate also mentioned dumping which was correct with
incorrect explanation which was: all goods from developed countries can
freely be sold to developing countries and vice versa. The analysis of the
candidates’ responses implies that they misunderstood the demands of the
question. For example, some candidates’ responses were the advantages of
international trade, ways/methods to control import, ways to improve
unfavourable balance of payments, and the reasons for international trade.
Extract 11.2 is a sample of an incorrect response from candidate who
misinterpreted the demands of the question.
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Extract 11.2: A sample of the incorrect response for question 4

In extract 11.2, the candidate explained the ways to control importation,
instead of how free trade harms the economic development of developing
countries. The candidates also failed to differentiate import from free trade.

Question 5: Business Office

The candidates in this question were required to suggest in six points, the
alternative classification of filing systems in Mnazi Enterprises which will
solve the problems of delays in responding to customers’ inquiries. The
question intended to test the candidates’ understanding of the types of filing
systems which are used in business office.

The question was opted by 808 (58.6%) candidates. Data analysis shows that
475 (58.79%) candidates scored from 12 to 20 marks, 193 (23.89%) scored
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from 7 to 11.5 marks, and 140 (17.32%) scored from 0 to 6.5 out of the 20
allocated marks. The overall performance for this question was good since
82.68 per cent of the candidates scored average marks and above (7 to 20
marks). Figure 12 summarises this performance.
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Figure 12: Candidates’ Performance for Question 5.

Figure 12 illustrates good performance 668 (82.68%) scored average marks
and above, that is to say from 7 to 20 marks. The candidates who performed
well in this question portrayed their understanding of the different
classifications of filling systems. They managed to provide clear
explanations on different filing systems that the one dealing with document
filing can adopt to address the customers’ complaints. However, some
candidates did not score all the 20 marks as some discrepancies were noted
in their responses. The Majority of them explained correctly four to five
points with relevant introductions and conclusions. The analysis shows that
most of these candidates skipped the alphanumeric filing system as an
alternative. This system combines both numeral and alphabetic which can
easily assist the office attendant to work effectively. Extract 12.1 presents a
sample of correct responses for question 5.
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Extract 12.1: A sample of a correct response to question 5

Some candidates 193 (23.89%) who performed average, scored from 7 to
11.5 marks. These candidates understood the demands of the question, but
had insufficient knowledge of the types of filing systems which are used in
business office. Some candidates mixed up the correct filing systems with
the methods of filing like horizontal and vertical.
mentioned some correct filing systems, but because they were not competent

60

Other candidates



enough, they interchanged the descriptions to some systems. For example,
one candidate interchanged the explanations for alphabetical classification
with chronological classification while others confused chronological with
numerical classification. This shows that the candidates had the idea of
filing system, but had insufficient knowledge of the concept examined.

On the other hand, 140 (17.32%) candidates scored low marks because they
lacked knowledge of filing systems. As a result, they failed to provide
relevant answer to the question. Some candidates highlighted a few correct
points, but failed to defend them. Apart from lack of knowledge of the
concept examined, the majority of candidates misinterpreted the demands of
the question. Some candidates explained the types of organisation structure,
instead of the filing system. The analysis further revealed that some
candidates explained the features of a good filling system which were
contrary to the requirement of the question. There were some candidates
who wrote the advantages of centralized filling system such as; save space,
simple to take care of the room, easy to find documents and avoid mixing of
documents. Others explained the characteristics of a good filling system
such as accessibility and flexibility. Extract 5.2 is a sample of incorrect
responses for question 5 from a candidate who scored low marks.
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Extract 12.2: A sample of the incorrect response for question 5

In extract 12.2, the candidate explained the advantages of centralised filing
system instead classification of the filing systems.

Question 6: Export Trade

The candidates in this question were required to show the way Tanzania
Trade Development Authority (TANTRADE) assists exporters in the
country basing on its roles. The question intended to test the candidates’
understanding of the roles of TANTRADE to Tanzanian exporters.

Data analysis shows that 1,212 (87.8%) candidates opted for this question.
Among them 925 (76.32%) scored from 12 to 20 marks, 236 (19.47%)
scored from 7 to 11.5 marks, and only 51 (4.21%) scored from 0 to 6.5 out
of 20 marks. Generally, the performance for this question was good since
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1161 (95.79%) candidates scored from 7 to 20 marks. Figure 13 summarises
the candidates’ performance for this question.
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Figure 13: Candidates’ Performance for Question 6, Paper 2

The majority of the candidates 925 (76.32%) scored high marks ranging
from 12 to 20. They were aware of the roles of the Tanzania Trade
Development Authority (TANTRADE), and identified the roles that assist
exporters in Tanzania. For example, TANTRADE supports exporters by;
branding the Tanzanian goods, providing advisory services on business
competition and building capacity of enterprises. Few candidates managed
to describe correctly all the roles which Tanzania Trade Development
Authority (TAN TRADE) plays to Tanzanian exporters. Other candidates
were able to give the correct roles but included some incorrect roles like;
providing loan to facilitate trade, taking insurance on behalf of the
exporters. However, most of them were able to show the way TANTADE
supports exporters. Variations of the candidates’ scores were caused by a
number of factors including; correct number of point given, clarity of the
explanations provided to the points, and the essay writing skills. Extract 13.1
shows a sample of correct responses from a candidate who adhered to the
demands of the question.
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Extract 13.1: A sample of the correct response for question 6

In extract 13.1, the candidate explained the way in which TANTRADE
assists exporters in Tanzania.

A total of 296 (19.47%) candidates had average performance as their
scores ranged from 7 to 11.5 marks. The analysis shows that these
candidates understood the demands of the question but had partial
knowledge of the roles played by TANTRADE to exporters. Some of their
responses included correct and incorrect answers. Others mixed up at least
two to three roles as per the demands of the question with the advantages
of international trade, while others mixed up with the methods of
controlling import trade. For example, one candidate included incorrect
responses such as; to create good relationship among the countries,
exchange of technology and creation of employment which are the
advantages of international trade. Some candidates wrote incorrect points
like; total ban, and increase import tax as part of their responses which are
the ways to control importation mixed up with some correct responses.
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This led to insufficient number of correct points. The majority of them
provided relevant introductions, but could not give relevant conclusions.

On the contrary, a few 51 (4.21%) candidates had weak performance (0 to
6.5 marks) in this question. The candidates in this category had inadequate
knowledge about TANTRADE in international trade, particularly its roles
to exporters. Some candidates mentioned a few correct points like
providing information to exporters and educating exporters, but failed to
provide related explanations to the mentioned points. A few candidates
scored marks on introductions and managed to explain a single point
correctly. They mentioned some correct points with unrelated
explanations. The analysis showed different incorrect interpretations of the
question from the candidates. For example, some candidates highlighted
the functions of export agents, while others explained the importance of
international trade. Likewise, some candidates confused TANTRADE with
aids to trade; therefore, they explained some points which relate to how
aids to trade support trade to take place, instead of the roles of
TANTRADE to exporters. Extract 13.2 shows a sample of an incorrect
response from a candidate who scored low marks.
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Extract 13.2: A sample of the incorrect responses for question 6
The response in extract 13.2 comprised some advantages of international

trade and import restrictions instead of the roles of TANTRADE in
assisting exporters in Tanzania.
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2.2.7 Question 7: Export Trade

The question required the candidates to explain all necessary particulars that
exporters fill into a blank bill of lading. The question intended to test the
candidates’ understanding of the documents used in export trade,
particularly the bill of lading.

The question was attempted by 671 (48.8%) candidates. Data analysis shows
that 206 (30.70%) candidates scored from 12 to 20 marks, while 393
(58.57%) scored from 7 to 11.5 marks. In addition, only 72 (10.73%)
candidates scored low marks ranging from 0 to 6.5 marks. The performance
for this question was good since 599 (89.27%) candidates scored from 7 to
19.5 out of the 20 allocated marks. Figure 14 summarises the candidates’
performance for this question.
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Figure 14: Candidates’ Performance for Question 7

The analysis shows that 206 (30.7%) candidates scored high marks (12 to
19.5 marks). They were familiar with the documents used in export trade,
specifically the bill of lading. The candidates explained the necessary
particulars that are to be included in the bill of lading. They understood that
the bill of lading is an evidence of contract of carriage of goods between the
shipping company and the exporter. Therefore they are necessary particulars
in which the two parties need to be informed. The correct particulars
include: mails (number of packages), place of loading of goods, name of the

receiver of the goods and the date of departure of the ship. The majority of
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candidates were able to explain at least seven out of nine required points.
However, the analysis further shows that some candidates included in their
responses other documents used in international trade such as indent and
consular invoice which were incorrect points. The candidates’ scores varied
in accordance with their ability to exhaust the required points with the
relevant introductions and conclusions. Extract 14.1 shows a sample of the
candidates’ good responses from one of the candidates who scored high
marks.
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Extract 14.1: A sample of the relatively correct response for question 7

In extracts 14.1 the candidate explained the particulars that should be included in a
bill of lading. However, the points explained as weight/volume and condition of the
goods are categorized as one point called particulars of the goods.

The 393 (58.57%) candidates performed averagely in this question as their
scores ranged from 7 to 11.5 marks. The analysis shows that the candidates
had partial knowledge about the bill of lading. Most of them explained the
correct points which included name of the ship, name of the exporter, cost of
shipping and name of the receiver (owner) of the goods. Some were able to
provide other correct responses, but they could explain them properly. Some
of them included some documents used in international trade such as: letter
of credit, invoice, export license, freight note, and delivery note which were
not correct.

Nevertheless, 72 (10.72%) candidate scored low marks (0 to 6.5 marks) in
this question. They lacked knowledge of the documents used in export
trade, particularly the bill of lading. Some candidates managed to give one
or two correct points of which they failed to explain them accordingly.
Other candidates pinpointed several correct particulars to be included in the
bill of lading, but failed to relate the explanations with the mentioned
points. Moreover, other candidates in this category misinterpreted the
requirements of the question. Some of them explained different documents
used in local and foreign trade. For example; one candidate explained the
documents like: delivery note, bills of exchange, documentary credit, an
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invoice, charter patty and credit note. In additional to that, others explained
the import procedures and some international commercial terms
(incoterms). Extracts 14.2 is a sample of incorrect responses from one of
the candidates who scored low marks.
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Extract 14.2: A sample of the incorrect response for question 7

In extract 14.2, the candidate explained some export and import procedures
instead of the particulars to be filled by the exporter on an empty bill of
lading.

74



3.0 ANALYSIS OF THE CANDIDATES’ PERFORMANCE IN EACH
TOPIC
Commerce subject paper 1 and 2 examinations comprised a total of 14
questions composed from 13 topics. The analysis shows that the general
performance for this examination was good since 12 out of 13 topics had
good performance, while only one topic had average performance. The
topics which had good performance were: Business Units (97.82%),
Insurance (97.31%), Production (94.64%), Warehousing (93.89%), Export
trade (92.51%), Transport and Communication (90.12%), Contract of sales
(88.59%), International trade (85.74%), Banking (83.24%), Advertising
82.80%), Business Office (82.68%) and The Scope of Commerce (77.50%).
The reasons for the good performance were: the ability of the candidates to
identify the tasks of the questions, the candidates’ competence in the
examined concepts, provision of sufficient explanations in answering the
questions, good mastery of essay writing skills, and English language
proficiency.

However, the topic of Marketing is the only one with average performance
(50.56%). The average performance was attributed to the candidates’
incorrect explanations to some of the correct mentioned points, and
insufficient number of correct points given by the candidates. The analysis
of candidates' performance per topic is summarised in Appendix A.

4.0 CONCLUSION AND RECOMMENDATIONS

4.1 Conclusion

The candidates’ item analysis responses revealed some strengths and
challenges that the candidates encountered in answering the
examinations questions. Generally, the candidates’ performance in 152
Commerce subject was good as 99.85 per cent of the candidates passed
with grade A, B, C, D, E and S. The reasons for the candidates’ good
performance were adequate knowledge of the examined concepts,
ability to adhere to the requirements of the questions, and good essays
writing skills. Only 2 (0.15 %) candidates failed as they obtain grade F.
The candidates with grade F were not competent in the subject matter,
failed to meet the requirements of some of the questions, and
insufficient knowledge of the topics examined.
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4.2

Recommendations

In order to improve the candidates’ performance in Commerce Subject
examinations in the future, the following are recommenced:

(a)

(b)

(©)

(d)

(e)

()

Teachers should prepare guidelines to assist students in
identifying the classification of markets. For easy
understanding of classification of market basing on different
conditions, teachers should use guidelines to assist students
while conducting debates in market classification.

Teachers to arrange for students’ visitation to different local
markets around their areas under teachers’ guidance so as to be
able to identify different local markets.

Candidates should read the examination questions carefully
before attempting them in order to clearly identify their
requirements. Teachers to assist students to be critical and
analytical when attempting the questions.

Teachers should adhere to the teaching and learning strategies
stipulated in the syllabus to enhance the acquisition of
commercial knowledge and skills.

Teachers should use vivid teaching aids to familiarize students
with the facts and to put into practice what they learn
theoretically. For example, the use of different documents used
in international trade and transport and communication.

Teachers to lead students in groups to discuss about
classification of filings and the benefits/limitations of each
system.
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Appendix
A Summary of the Analysis of the Candidates’ Performance on each Topic

Topics

S/IN

Remarks

scored the average of

Number of questions
35 or above

Percentage of
candidates who

Average

13 | Marketing 1 50.56
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